Expression-Responsible Relationships Algorithm
(or realizedBy Algorithm)

1. Group 1a bibliographic records

1.1. For every newly created expression, create all possible realizedBy relationships by setting the expression’s identifier as “source” and each 700|4prf or 700|4cnd person’s identifier as “target”


1.1.1. If target comes from 700|4prf, set role to performer


1.1.2. If target comes from 700|4cnd, set role to conductor

1.2. For every newly created expression, create all possible realizedBy relationships by setting the expression’s identifier as “source” and each 710|4prf corporate body’s identifier as “target”

1.2.1. Set target’s role to performer

2. Group 1b bibliographic records
2.1. For every newly created expression, create all possible realizedBy relationships by setting the expression’s identifier as “source” and each 100|4prf or 100|4cnd or 700|4prf or 700|4cnd person’s identifier as “target”

2.1.1. If target comes from 700|4prf or 100|4prf, set role to performer


2.1.2. If target comes from 700|4cnd or 100|4cnd, set role to conductor

2.2. For every newly created expression, create all possible realizedBy relationships by setting the expression’s identifier as “source” and each 110
 or 710|4prf corporate body’s identifier as “target”


2.2.1. Set target’s role to performer

3. Group 1c bibliographic records
3.1. Do not create any realizedBy relationships
4. Group 2/3/4 bibliographic records

4.1. For every newly created expression, create all possible realizedBy relationships by setting the expression’s identifier as “source” and each 100|4prf or 100|4cnd or 700|4prf or 700|4cnd person’s identifier as “target”


4.1.1. If target comes from 700|4prf or 100|4prf, set role to performer


4.1.2. If target comes from 700|4cnd or 100|4cnd, set role to conductor

4.2. For every newly created expression, create all possible realizedBy relationships by setting the expression’s identifier as “source” and each 110
 or 710|4prf corporate body’s identifier as “target”

4.2.1. Set target’s role to performer

� A |4prf in 110 is not compulsory


� A |4prf in 110 is not compulsory





